Preliminary Quiz: Work and Conservation of Energy

1 7{ lock is pulled at 10° for 5 meters on a frictionless surface. R
a. How much work is done on the box? 10°
b. How fast is the box movin "
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2. A15 box is pushed with a 50N force in line

with movement on a frictionless surface. AST
a. How much Ugmyiry does the box have at the top? 15kg 5m
b. How fast is the box movmg at the top?
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3. A ball is thrown up with a velocity of V;. Derive a formula, using energy, for the maximum
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4. Aballis thrown up at 50m/s.

Student hypothesis: The ball will be halfway to its maximum he;grht when it is at 25m/s? Justify
or nullify the student hypothesis. —rn
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5. A ball is thrown at 30m/s at a 20° angle,“how fast is the ball moving at the top? —_ y
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6. Student%pothesns Aboxis pushed at Velocity V causing it to slide to point X. If you.sfide a box

at 2Vit WF” slide to pomt ZXEJust;fy or nullify. 5 ;D @A—LMW ,6'/3 Cj;/(/\.
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